
ΔΙΑΓ.!1ΝΙ!ΜΑ ! ΤΑ ΜΑΘΗΜΑ ΤΙΚΑ 

ΧΡΟΝΟΣ 45. λεπτά 

Τ ΜΗΜΑ: ΗΜΕΡΟΜΗΝΙΑ: 

ΟΝΟΜΑΤΕΠΏΝΥΜΟ ............................................................ . 

ΚΑΘΗΓΗΤΗΣ: 

Να λύσετε τα πιό κάτω ολοκληρώματα: 

1) J (2- �lnx)s dx 

2) 

3) 

4) 

5) 

6) 

7) 

8) 

f 3χ - 5 dx 
χ2 + 9 

J J1 - συν6χ dx 

f 3 - χ + ( τοξεφχ) 3 dx 
1 +χ2 

J τοξημχ dx 
!ϊ+Χ 

f Sx dx 
(χ - 2)(χ2 + 1) 

(t = ημχ) 

(χ= 2εφθ) 
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9) 
f dx 

2 + ημχ + συνχ 

10) J (hιχ )2 • 

dx 

( Προαιρεηκή άσκηση , για δυνατούς ... ) f--'-'Χ'--·-=e'--το-;:ξε=φχ===-dΧ 
(1+x2) JI+x2 

(τοξεφχ = u ) 
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